
CYCLONE RADAR

1. Antenna
2. Threaded alignment guide
3. Washer
4. Spring washer
5. Nut

1. VCM100
2. Cable clamp
3. VCM100 mounting screw x2
4. Cable clamp mounting screw x3

1. 	Pedestal
2. M10 Stud x4
3. M10 Nut x8
4. M10 Spring Washer x4
5. M10 Plain washer x4
6. Mounting gasket
7. Mounting template
8. Radar data cable
9. Power cable

CYCLONE: IN THE BOX



335 mm / 13.1 in

335 mm / 13.1 in

1336 mm / 52.5 in

1945 mm / 76.5 in

1031 mm / 40.5 in

335 mm / 13.1 in271 mm / 10.6 in271 mm / 10.6 in

271 mm / 10.6 in271 mm / 10.6 in

271 mm / 10.6 in271 mm / 10.6 in

388 mm / 15.2 in

6ft.

4ft.

3ft.

360 mm / 14.1 in

360 mm / 14.1 in

360 mm / 14.1 in

CYCLONE RADAR


